

Section 6.3:

4/105

410)

$$(x^2+1)y'' - 6y = 0 \quad \text{--- (1)}$$

Singular points are when $x^2+1=0$

$$x = \pm i$$

→ Radius of convergence = $|i| = 1$
 R is at least = 1

$$\rightarrow \text{let } y = \sum_{n=0}^{\infty} C_n X^n, \quad |x| < 1$$

$$y' = \sum_{n=1}^{\infty} n C_n X^{n-1}, \quad y'' = \sum_{n=2}^{\infty} n(n-1) C_n X^{n-2}$$

Substitute in (1)

$$(x^2+1) \sum_{n=2}^{\infty} n(n-1) C_n X^{n-2} - 6 \sum_{n=0}^{\infty} C_n X^n = 0 \quad \forall x$$

$$\sum_{n=2}^{\infty} n(n-1) C_n X^n + \sum_{n=2}^{\infty} n(n-1) C_n X^{n-2} - 6 \sum_{n=0}^{\infty} C_n X^n = 0 \quad \forall x$$

$$\sum_{n=2}^{\infty} n(n-1) C_n X^n + \sum_{n=0}^{\infty} (n+2)(n+1) C_{n+2} X^n - 6 \sum_{n=0}^{\infty} C_n X^n = 0$$

$$\left. \begin{aligned} & 2C_2 + 6C_3 X - 6C_0 - 6C_1 X \\ & + \sum_{n=2}^{\infty} [n(n-1)C_n + (n+2)(n+1)C_{n+2} - 6C_n] X^n \end{aligned} \right\} = 0$$

$$\rightarrow \begin{aligned} 2C_2 - 6C_0 &= 0 \rightarrow C_2 = \frac{6C_0}{2} = \underline{3C_0} \\ 6C_3 - 6C_1 &= 0 \rightarrow \underline{C_3 = C_1} \end{aligned}$$

where C_0 and C_1 are arbitrary constants to be evaluated according to IVP.

4/1/05

$$n(n-1)C_n + (n+2)(n+1)C_{n+2} - 6C_n = 0$$

$$C_{n+2} = \frac{6C_n - n(n-1)C_n}{(n+2)(n+1)} \quad ; n=2, 3, \dots$$

$$C_{n+2} = \frac{[6 - n(n-1)]C_n}{(n+2)(n+1)} \quad ; n=2, 3, \dots$$

$$n=2, \quad C_4 = \left(\frac{6 - 2 \cdot 1}{4 \cdot 3} \right) C_2 = \frac{2}{3} C_2 = \frac{3C_2}{3} = C_2$$

$$n=3, \quad C_5 = \frac{(6 - 6)C_3}{5 \cdot 4} = 0, \quad C_5 = 0$$

$$n=4, \quad C_6 = \frac{[6 - 12]C_4}{6 \cdot 5} = -\frac{1}{5}C_4 = -\frac{1}{5}C_6$$

$$n=5, \quad C_7 = () C_5 = 0$$

$$n=6, \quad C_8 = \frac{[6 - 30]C_6}{8 \cdot 7} = -\frac{24}{8 \cdot 7} C_6 = -\frac{3}{7} \cdot -\frac{1}{5} C_6$$

$$= \frac{3}{35} C_6$$

Notice that $C_3 = C_5 = C_7 = C_{2n+1} = C_{\text{odd}} = 0$

$$\Delta y_{\text{total}} = C_0 \left[1 + 3X^2 + X^4 - \frac{1}{5}X^6 + \frac{3}{35}X^8 + \dots \right] + C_1 [X + X^3]$$

$$\Delta y_1 = 1 + 3X^2 + X^4 - \frac{1}{5}X^6 + \frac{3}{35}X^8 + \dots$$

$$y_2 = X + X^3$$

Section 6.3

4/1/05

#10) $(x^2+1)y'' + 2xy' = 0$, $y(0)=0$, $y'(0)=1$

Singular Point are $x^2+1=0 \Rightarrow x = \pm i$

$R = |i| = 1 = \text{Radius of Convergence}$

$x=0$ is an ordinary point.

$$y = \sum_{n=0}^{\infty} C_n x^n$$

$$y' = \sum_{n=1}^{\infty} n C_n x^{n-1}, \quad y'' = \sum_{n=2}^{\infty} n(n-1) C_n x^{n-2}$$

Substitute

$$(x^2+1) \sum_{n=2}^{\infty} n(n-1) C_n x^{n-2} + 2x \sum_{n=1}^{\infty} n C_n x^{n-1} = 0$$

$$\sum_{n=2}^{\infty} n(n-1) C_n x^n + \sum_{n=2}^{\infty} n(n-1) C_n x^{n-2} + 2 \sum_{n=1}^{\infty} n C_n x^n = 0$$

$$\sum_{n=2}^{\infty} n(n-1) C_n x^n + \sum_{n=0}^{\infty} (n+2)(n+1) C_{n+2} x^n + 2 \sum_{n=1}^{\infty} n C_n x^n = 0$$

$$\sum_{n=2}^{\infty} n(n-1) C_n x^n + 2C_2 + 6C_3 x + \sum_{n=2}^{\infty} (n+2)(n+1) C_{n+2} x^n + 2C_1 x + 2 \sum_{n=2}^{\infty} n C_n x^n = 0$$

$$2C_2 + (6C_3 + 2C_1)x + \sum_{n=2}^{\infty} [n(n-1)C_n + (n+2)(n+1)C_{n+2} + 2nC_n] x^n = 0, \quad \forall x$$

$$\Rightarrow 2C_2 = 0 \Rightarrow \underline{C_2 = 0}$$

$$6C_3 + 2C_1 = 0 \Rightarrow \underline{C_3 = -\frac{1}{3}C_1}$$

4/1/05

Recurrence Relation:

$$n(n-1)C_n + (n+2)(n+1)C_{n+2} + 2nC_n = 0, \quad n=2,3,\dots$$

$$n^2C_n - nC_n + (n+2)(n+1)C_{n+2} + 2nC_n = 0$$

$$\Rightarrow C_{n+2} = \frac{-(n^2+n)C_n}{(n+2)(n+1)}$$

$$C_{n+2} = -\frac{n}{(n+2)}C_n, \quad n=2,3,4,\dots$$

So far, we know that $C_2=0$, $C_3 = -\frac{1}{3}C_1$

$$n=2, \quad C_4 = -\frac{2}{4}C_2 = 0.$$

$$n=3, \quad C_5 = -\frac{3}{5}C_3 = -\frac{3}{5} \cdot \left(-\frac{1}{3}C_1\right) = \frac{1}{5}C_1$$

$$n=4, \quad C_6 = 0, \quad C_{even} = 0.$$

$$n=5, \quad C_7 = -\frac{5}{7}C_5 = -\frac{5}{7} \cdot \frac{1}{5}C_1 = -\frac{1}{7}C_1$$

$$\therefore y_{total} = C_0 + C_1 \left[x - \frac{1}{3}x^3 + \frac{1}{5}x^5 - \frac{1}{7}x^7 + \dots \right]$$

$$\text{I.C. } y(0)=0 \Rightarrow \boxed{C_0=0}$$

$$y'(x) = C_1 \left[1 - x^2 + x^4 - x^6 + \dots \right]$$

$$y'(0)=1 \Rightarrow \boxed{C_1=1}, \quad \therefore y_{total} = x - \frac{1}{3}x^3 + \frac{1}{5}x^5 - \frac{1}{7}x^7 + \dots$$

#18)

$$y_{\text{total}} = x - \frac{1}{3}x^3 + \frac{1}{5}x^5 - \frac{1}{7}x^7 + \dots$$

$$= \sum_{n=1}^{\infty} \frac{(-1)^{n+1} x^{(2n-1)}}{(2n-1)}$$

$$y = \sum_{n=1}^{\infty} \frac{(-1)^{n+1} x^{(2n-1)}}{(2n-1)}$$